

10/17/21

Hw 11

$\ln(x^2) = x$

(1) Cardanus Method: $x^3 - 9x - 28 = 0$, $x^3 + px = q$

$$x = u - v, \quad 3uv = p, \quad u^3 - v^3 = q$$

$$x^3 - 9x = 28: \quad [u^3 - v^3 = 28]$$

$$[3uv = -9] \rightarrow uv = -3, \quad u^3 v^3 = -27$$

$$\text{So, } (u^3 - v^3)^2 = 28^2 \rightarrow u^6 - 2u^3v^3 + v^6 = 784$$

$$\hookrightarrow x = u - v, \quad 3uv = p, \quad u^3 - v^3 = q \rightarrow x = u - v, \quad 3uv = -9, \quad u^3 - v^3 = 28$$

$$uv = -3, \quad u^3 v^3 = -27 \rightarrow 4u^3 v^3 = -108$$

$$(u^3 - v^3)^2 = 28^2 \rightarrow u^6 - 2u^3v^3 + v^6 = (784) + (-108)$$

$$\hookrightarrow u^6 + 2u^3v^3 + v^6 = 676 \Rightarrow (u^3 + v^3)^2 = \sqrt{676} = 26$$

$$(u^3 + v^3) = 26$$

$$2u^3 = 54 \rightarrow u^3 = 27 \rightarrow \boxed{u = 3}, \quad \boxed{v = -1}$$

$$(u^3 - v^3) = 28$$

$$x = u - v = 3 - (-1) = 4$$

$$uv = 3 + (-1) = 2$$

$$u + v = \left(\frac{1}{2} + \frac{i\sqrt{3}}{2}\right)(3) + \left(\frac{1}{2} - \frac{i\sqrt{3}}{2}\right)(-1) = \left(\frac{-3}{2} + \frac{3i\sqrt{3}}{2}\right) + \left(\frac{1}{2} + \frac{i\sqrt{3}}{2}\right) = -1 + \frac{4i\sqrt{3}}{2}$$

$$u^2 + v^2 = \left(-\frac{1}{2} - \frac{i\sqrt{3}}{2}\right)(3) + \left(-\frac{1}{2} + \frac{i\sqrt{3}}{2}\right)(-1) = \left(-\frac{3}{2} - \frac{3i\sqrt{3}}{2}\right) + \left(\frac{1}{2} - \frac{i\sqrt{3}}{2}\right) = -1 - \frac{4i\sqrt{3}}{2}$$

10/17/21

HW 11

(2) $x^3 - 30x = 133$

$x = u - v$

$u^3 - v^3 = 133$

$3uv = 30 \rightarrow uv = 10$

$u^3 v^3 = -1000$

$(u^3 - v^3)^2 = (133)^2 = 17,689$, $4u^3 v^3 = -4000$

$u^6 - 2u^3 v^3 + v^6 = 17,689$

$u^6 + 2u^3 v^3 + v^6 = 13,689 = (u^3 + v^3)^2 = 13,689 = u^3 + v^3 = \sqrt{13,689} = 117$

$u^3 + v^3 = 117$

$u^3 - v^3 = 133$

$u^3 = 250 \rightarrow u = \sqrt[3]{250} = \sqrt[3]{62.5} = \sqrt[3]{5^3 \cdot 2.5} = 5\sqrt[3]{2.5} = u$

$uv^3 = -10 \rightarrow v^3 = -8 \rightarrow v = -2$

$uv = (-2)(5\sqrt[3]{2.5})$

$wu + uv = (-\frac{1}{2} + i\frac{\sqrt{3}}{2})(5\sqrt[3]{2.5}) + (-\frac{1}{2} - i\frac{\sqrt{3}}{2})(-2) = \left(\frac{5\sqrt[3]{2.5}}{-2}\right) + \left(\frac{(5\sqrt[3]{2.5})(i\sqrt{3})}{2}\right) + (1 + i\sqrt{3})$

$w^2 u + uv = (-\frac{1}{2} - i\frac{\sqrt{3}}{2})(5\sqrt[3]{2.5}) + (-\frac{1}{2} + i\frac{\sqrt{3}}{2})(-2)$

$11^2 - 2(11)(-2)$

(3) $x^3 + px + q = 0$

$(y^2 - 2y + 1)(y - 1)$

$x = u - v$, $4u^3 v^3 = 4\frac{p^3}{27}$

$u^3 - v^3 = q$, $(u^3 - v^3)^2 = q^2 \rightarrow (u^6 - 2u^3 v^3 + v^6) + (4u^3 v^3) = 4\frac{p^3}{27} + q^2$

$3uv = p$, $(u^3 + v^3)^2 = 4\frac{p^3}{27} + q^2$

$w = \frac{p}{3}$, $(u^3 + v^3) = \sqrt{4\frac{p^3}{27} + q^2}$

a b c d

(4) $x^3 + 3x^2 + 5x - 100 = 0$

$y = x + \frac{a}{3}$

$y = x + \frac{a}{3}$, $x = y - \frac{a}{3} \rightarrow x = y - \frac{10}{3} \rightarrow y = y - 1$

$\rightarrow (y - 1)^3 + 3(y - 1)^2 + 5(y - 1) = 100 \rightarrow y^3 - y^2 - 2y^2 + 2y + 1 + 3y^2 - 6y + 3 + 5y - 5 = 100$

$= y^3 + 2y - 3 = 100 \Rightarrow y^3 + 2y = 97$

$x(x^2 + 3x + 5)$

$x^2 + 3x = 3^2$

$x(x + 3) =$